

Medical Sliding Fee Visits

2021 Dec 2019 to April 2021

Sliding	Nominal		Charges after		Collection Rate	Avg. Charge per visit	Avg. Payment per visits
	Fee	Encounter	Discount	Payments			
No Income	Full Fee	1725	\$616,751	\$12,516	2.03%	\$357.54	\$7.26
Over 200% FPL (Over Income)	Full Fee	137	\$45,548	\$5,294	11.62%	\$332.47	\$38.64
180-200%	\$ 60.00	390	\$23,445	\$9,953	42.45%	\$60.12	\$25.52
130-179%	\$ 45.00	1378	\$61,976	\$25,994	41.94%	\$44.98	\$18.86
101-129%	\$ 35.00	1090	\$38,105	\$16,760	43.98%	\$34.96	\$15.38
Under 100% PFL	\$ 30.00	2665	\$80,227	\$34,018	42.40%	\$30.10	\$12.76
		7,385	\$866,052	\$104,536	12.07%	\$117.27	\$14.16

2020

Sliding	Nominal		Charges after		Collection Rate	Avg. Charge per visit	Avg. Payment per visits
	Fee	Encounter	Discount	Payments			
No Income	Full Fee	5694	\$1,744,325	\$64,811	3.72%	\$306.34	\$11.38
Over 200% FPL (Over Income)	Full Fee	369	\$130,756	\$22,823	17.45%	\$354.35	\$61.85
180-200%	\$ 60.00	805	\$50,905	\$23,644	46.45%	\$63.24	\$29.37
130-179%	\$ 45.00	3269	\$154,092	\$75,531	49.02%	\$47.14	\$23.11
101-129%	\$ 35.00	2695	\$105,887	\$48,568	45.87%	\$39.29	\$18.02
Under 100% PFL	\$ 30.00	7293	\$235,271	\$111,310	47.31%	\$32.26	\$15.26
		20,125	\$2,421,235	\$346,687	14.32%	\$120.31	\$17.23

2019

Sliding	Nominal		Charges after		Collection Rate	Avg. Charge per visit	Avg. Payment per visits
	Fee	Encounter	Discount	Payments			
No Income	Full Fee	3500	\$1,220,511	\$106,595	8.73%	\$348.72	\$30.46
Over 200% FPL (Over Income)	Full Fee	375	\$135,493	\$36,825	27.18%	\$361.31	\$98.20
180-200%	\$ 60.00	782	\$46,325	\$26,717	57.67%	\$59.24	\$34.17
130-179%	\$ 45.00	3386	\$152,356	\$94,247	61.86%	\$45.00	\$27.83
101-129%	\$ 35.00	2880	\$101,597	\$64,221	63.21%	\$35.28	\$22.30
Under 100% PFL	\$ 30.00	7739	\$232,124	\$141,621	61.01%	\$29.99	\$18.30
		18,662	\$1,888,406	\$470,226	24.90%	\$101.19	\$25.20

*Due to COVID operational changes were necessary and LCHD/CHC expanded the time frame for patient to apply for a reduced fee to 90 Days post pandemic.

Behavioral Health Sliding Fee Visits

2021 Dec 2019 to April 2021

Sliding	Nominal Fee	Encounter	Charges after		Collection Rate	Avg. Charge per visit	Avg. Payment per visits
			Discount	Payments			
No Income	Full Fee	641	\$130,757.64	\$1,414.00	1.08%	\$203.99	\$2.21
Over 200% FPL (Over Income)	Full Fee	7	\$1,570.00	\$175.00	11.15%	\$224.29	\$25.00
181-200%	75% of Charge	39	\$6,098.25	\$843.50	13.83%	\$156.37	\$21.63
180%	50% of Charge	69	\$6,397.50	\$703.70	11.00%	\$92.72	\$10.20
150%	25% of Charge	79	\$3,539.50	\$561.25	15.86%	\$44.80	\$7.10
130%	10% of charge	34	\$668.20	\$211.30	31.62%	\$19.65	\$6.21
110%	5% of Charge	88	\$808.95	\$219.15	27.09%	\$9.19	\$2.49
Under 100%	\$ 5.00	476	\$2,380.00	\$491.60	20.66%	\$5.00	\$1.03
			1,433	\$152,220.04	\$4,619.50	3.03%	\$106.22
							\$3.22

2020

Sliding	Nominal Fee	Encounter	Charges after		Collection Rate	Avg. Charge per visit	Avg. Payment per visits
			Discount	Payments			
No Income	Full Fee	1073	\$203,724.05	\$6,732.80	3.30%	\$189.86	\$6.27
Over 200% FPL (Over Income)	Full Fee	48	\$11,016.00	\$805.00	7.31%	\$229.50	\$16.77
181-200%	75% of Charge	69	\$9,715.00	\$2,291.50	23.59%	\$140.80	\$33.21
180%	50% of Charge	217	\$20,605.00	\$4,984.75	24.19%	\$94.95	\$22.97
150%	25% of Charge	235	\$10,558.50	\$1,775.15	16.81%	\$44.93	\$7.55
130%	10% of charge	200	\$4,182.70	\$1,504.30	35.96%	\$20.91	\$7.52
110%	5% of Charge	187	\$1,639.15	\$729.50	44.50%	\$8.77	\$3.90
Under 100%	\$ 5.00	1475	\$7,710.00	\$2,401.50	31.15%	\$5.23	\$1.63
			3,504	\$269,150.40	\$21,224.50	7.89%	\$76.81
							\$6.06

2019

Sliding	Nominal Fee	Encounter	Charges after		Collection Rate	Avg. Charge per visit	Avg. Payment per visits
			Discount	Payments			
No Income	Full Fee	561	\$639,682.00	\$47,067.73	7.36%	\$1,140.25	\$83.90
Over 200% FPL (Over Income)	Full Fee	110	\$20,235.00	\$3,639.79	17.99%	\$183.95	\$33.09
181-200%	75% of Charge	55	\$7,638.75	\$2,020.28	26.45%	\$138.89	\$36.73
180%	50% of Charge	245	\$22,174.50	\$7,392.85	33.34%	\$90.51	\$30.17
150%	25% of Charge	219	\$9,649.50	\$3,429.50	35.54%	\$44.06	\$15.66
130%	10% of charge	274	\$4,839.80	\$2,041.55	42.18%	\$17.66	\$7.45
110%	5% of Charge	111	\$913.20	\$305.75	33.48%	\$8.23	\$2.75
Under 100%	\$ 5.00	1379	\$7,034.00	\$3,068.95	43.63%	\$5.10	\$2.23
			2,954	\$712,166.75	\$68,966.40	9.68%	\$241.09
							\$23.35

*Due to COVID operational changes were necessary and LCHD/CHC expanded the time frame for patient to apply for a reduced fee to 90 Days post pandemic.

Dental Sliding Fee Visits

Preventative

2021 Dec 2019 to April 2021

Sliding	Nominal Fee	Encounter	Charges after		Collection Rate	Avg. Charge per visit	Avg. Payment per visits
			Discount	Payments			
No Income	Full Fee	537	\$40,406.00	\$3,397.51	8.41%	\$75.24	\$6.33
Over 200% FPL (Over Income)	Full Fee	37	\$3,157.00	\$1,430.00	45.30%	\$85.32	\$38.65
180-200%	\$ 35.00	94	\$1,575.00	\$1,205.00	76.51%	\$16.76	\$12.82
130-179%	\$ 30.00	374	\$5,206.90	\$4,036.50	77.52%	\$13.92	\$10.79
101-129%	\$ 25.00	365	\$3,750.00	\$2,877.80	76.74%	\$10.27	\$7.88
Under 100% FPL	\$ 20.00	791	\$7,420.00	\$6,096.65	82.17%	\$9.38	\$7.71
		2,198	\$61,514.90	\$19,043.46	30.96%	\$27.99	\$8.66

2020

Sliding	Nominal Fee	Encounter	Charges after		Collection Rate	Avg. Charge per visit	Avg. Payment per visits
			Discount	Payments			
No Income	Full Fee	55	\$8,815.00	\$2,435.00	27.62%	\$160.27	\$44.27
Over 200% FPL (Over Income)	Full Fee	2	\$218.00	\$172.00	78.90%	\$109.00	\$86.00
180-200%	\$ 35.00	9	\$274.24	\$224.24	81.77%	\$30.47	\$24.92
130-179%	\$ 30.00	42	\$1,099.92	\$984.54	89.51%	\$26.19	\$23.44
101-129%	\$ 25.00	44	\$993.35	\$884.94	89.09%	\$22.58	\$20.11
Under 100% FPL	\$ 20.00	100	\$1,778.88	\$1,678.88	94.38%	\$17.79	\$16.79
		252	\$13,179.39	\$6,379.60	48.41%	\$52.30	\$25.32

2019

Sliding	Nominal Fee	Encounter	Charges after		Collection Rate	Avg. Charge per visit	Avg. Payment per visits
			Discount	Payments			
No Income	Full Fee	790	\$102,764.00	\$20,120.57	19.58%	\$130.08	\$25.47
Over 200% FPL (Over Income)	Full Fee	22	\$4,161.00	\$2,494.00	59.94%	\$189.14	\$113.36
180-200%	\$ 35.00	108	\$3,779.00	\$3,271.25	86.56%	\$34.99	\$30.29
130-179%	\$ 30.00	580	\$17,400.00	\$15,611.07	89.72%	\$30.00	\$26.92
101-129%	\$ 25.00	544	\$13,600.00	\$12,329.68	90.66%	\$25.00	\$22.66
Under 100% FPL	\$ 20.00	1346	\$26,820.00	\$24,612.10	91.77%	\$19.93	\$18.29
		3,390	\$168,524.00	\$78,438.67	46.54%	\$49.71	\$23.14

*Due to COVID restrictions dental services were reduced to emergent/urgent appointments April 2020 to mid July 2020. Emergent/Urgent appointments available at 3 sites during this time period. Also due to COVID operational changes were necessary and LCHD/CHC expanded the time frame for patient to apply for a reduced fee to 90 Days post pandemic.

Dental Sliding Fee Visits

Restorative no Lab Fees

2021 Dec 2019 to April 2021

Sliding	Nominal Fee	Encounter	Charges after		Collection Rate	Avg. Charge per visit	Avg. Payment per visits
			Discount	Payments			
No Income	Full Fee	53	\$15,236	\$1,620	10.63%	\$287.47	\$30.57
Over 200% FPL (Over Income)	Full Fee	8	\$2,220	\$1,610	72.52%	\$277.50	\$201.25
180-200%	\$ 105.00	44	\$4,200	\$3,235	77.02%	\$95.45	\$73.52
130-179%	\$ 90.00	147	\$12,690	\$10,806	85.16%	\$86.33	\$73.51
101-129%	\$ 75.00	120	\$8,625	\$7,535	87.36%	\$71.88	\$62.79
Under 100% FPL	\$ 60.00	285	\$16,200	\$13,676	84.42%	\$56.84	\$47.98
		657	59,171	\$38,482	65.04%	\$90.06	\$58.57

2020

Sliding	Nominal Fee	Encounter	Charges after		Collection Rate	Avg. Charge per visit	Avg. Payment per visits
			Discount	Payments			
No Income	Full Fee	7	\$2,435	\$664	27.27%	\$347.86	\$94.86
Over 200% FPL (Over Income)	Full Fee	0	\$0	\$0	0.00%	\$0.00	\$0.00
180-200%	\$ 105.00	9	\$900	\$750	83.32%	\$99.95	\$83.28
130-179%	\$ 90.00	20	\$1,800	\$1,375	76.39%	\$90.00	\$68.75
101-129%	\$ 75.00	19	\$1,425	\$1,175	82.46%	\$75.00	\$61.84
Under 100% FPL	\$ 60.00	35	\$2,012	\$1,802	89.56%	\$57.48	\$51.48
		90	8,571	\$5,765	67.26%	\$95.24	\$64.06

2019

Sliding	Nominal Fee	Encounter	Charges after		Collection Rate	Avg. Charge per visit	Avg. Payment per visits
			Discount	Payments			
No Income	Full Fee	113	\$31,139	\$6,268	20.13%	\$275.57	\$55.47
Over 200% FPL (Over Income)	Full Fee	8	\$1,878	\$1,532	81.55%	\$234.75	\$191.44
180-200%	\$ 105.00	62	\$6,510	\$5,845	89.78%	\$105.00	\$94.27
130-179%	\$ 90.00	433	\$38,970	\$34,961	89.71%	\$90.00	\$80.74
101-129%	\$ 75.00	458	\$34,350	\$30,612	89.12%	\$75.00	\$66.84
Under 100% FPL	\$ 60.00	1063	\$63,780	\$59,962	94.01%	\$60.00	\$56.41
		2,137	176,627	\$139,180	78.80%	\$82.65	\$65.13

*Due to COVID restrictions dental services were reduced to emergent/urgent appointments April 2020 to mid July 2020. Emergent/Urgent appointments available at 3 sites during this time period. Also due to COVID operational changes were necessary and LCHD/CHC expanded the time frame for patient to apply for a reduced fee to 90 Days post pandemic.

Dental Sliding Fee Visits

Procedures With Lab Fees

2021 Dec 2019 to April 2021

Sliding	Nominal Fee	Encounter	Charges after		Collection Rate	Avg. Charge per visit	Avg. Payment per visits
			Discount	Payments			
No Income	Full Fee	73	\$0	\$4,440	0.00%	\$0.00	\$60.82
Over 200% FPL (Over Income)	Full Fee	0	\$0	\$0	0.00%	\$0.00	\$0.00
180-200%	105 + Lab Fee	1	\$221	\$221	100.00%	\$221.00	\$221.00
130-179%	90+ Lab Fee	6	\$3,344	\$93	2.78%	\$557.33	\$15.50
101-129%	75 + Lab Fee	9	\$6,944	\$204	2.94%	\$771.56	\$22.67
Under 100% FPL	60 + Lab Fee	10	\$4,475	\$988	22.08%	\$447.50	\$98.80
		99	14,984	\$5,946	39.68%	\$151.35	\$60.06

2020

Sliding	Nominal Fee	Encounter	Charges after		Collection Rate	Avg. Charge per visit	Avg. Payment per visits
			Discount	Payments			
No Income	Full Fee	23	\$0	\$900	0.00%	\$0.00	\$39.13
Over 200% FPL (Over Income)	Full Fee	1	\$3,846	\$1,914	49.77%	\$3,846.00	\$1,914.00
180-200%	105 + Lab Fee	1	\$948	\$948	100.00%	\$948.00	\$948.00
130-179%	90+ Lab Fee	0	\$0	\$0	0.00%	\$0.00	\$0.00
101-129%	75 + Lab Fee	0	\$0	\$0	0.00%	\$0.00	\$0.00
Under 100% FPL	60 + Lab Fee	1	\$678	\$678	100.00%	\$678.00	\$678.00
		26	5,472	\$4,440	81.14%	\$210.46	\$170.77

2019

Sliding	Nominal Fee	Encounter	Charges after		Collection Rate	Avg. Charge per visit	Avg. Payment per visits
			Discount	Payments			
No Income	Full Fee	3	\$735	\$308	41.84%	\$245.00	\$102.50
Over 200% FPL (Over Income)	Full Fee	1	\$4,048	\$1,923	47.50%	\$4,048.00	\$1,923.00
180-200%	105 + Lab Fee	2	\$3,674	\$3,674	100.00%	\$1,837.00	\$1,837.00
130-179%	90+ Lab Fee	18	\$14,903	\$13,305	89.28%	\$827.94	\$739.17
101-129%	75 + Lab Fee	12	\$8,948	\$7,969	89.06%	\$745.67	\$664.08
Under 100% FPL	60 + Lab Fee	49	\$33,312	\$30,622	91.92%	\$679.84	\$624.93
		85	65,620	\$57,800	88.08%	\$772.00	\$680.00

*Due to COVID restrictions dental services were reduced to emergent/urgent appointments April 2020 to mid July 2020. Emergent/Urgent appointments available at 3 sites during this time period. Also due to COVID operational changes were necessary and LCHD/CHC expanded the time frame for patient to apply for a reduced fee to 90 Days post pandemic.